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| What do Ireed to be able || Feuwords
: to do? | : Base: The number that gets multipled by a power
| Bythe end of this unit you shoukd be abe to: : | Power: The exponent — or the number that tells you how many times to use the number in multipleation
|« Odd/ Swbtract expressons vith ndces | | Exponent: The power — or the rumber that tell you how many times to use the rumber in multiplcation
|« Mutiply expressions with indices | I Indices: The power or the exponent
|« Duide expressions with indices | 1 Coefficient: The rumber used to muttiply a varible
I« Finow the addtion law for indces | : Simpify: To reduce a power 1o its lowest term
: * Hnow the subtraction law for indices : I Produet: Muttiply
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| Oddition/ Subtraction with indices | | Mutiply expressions with indices
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: Only simiar terms can be simplfied | |
| If they have different powers, they L
I are unlke terms I bt x 3pR
I :I =2xbxbxbxbx3xbxb Trere are often
| | I~ 2y 3 misconceptions with this
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| D|V|d€ QXPI'CSSiOnS W|th mdms I | The base rumber s l the same so the terms
| — : I can be simplfied
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I — . . — I | Oddition law for indices
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| Cross canceling factors shows cancels the expre
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: : : Subtraction law for indices
712 This expression cannot be. divided
I %A&t@_ (cancelled down) because there are : : am=gN=qm-n
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